6.1 through 6.8 Using the method of joints, determine the force in each

member of the truss shown. State whether each member is in ten-
sion (T) or compression (C).
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' The beam AB supports the uniformly distributed load of 1000 N/m 3 ool dmslne 1y 35 i BT o Mﬁ:);
and two unknown forces P and Q. Knowing that it has been experi-

S ey 1y T s g iy ol S0
mentally determimed that the bending moment is —395 N-m at A

and —215 N-m at C, (a) determine P and (Q. (b) draw the shear and
bending-moment diagrams for the beam.

1000 N/m ¥ Q : .
W = 4500 MAmi
l ¥ l Y ¥ ¥ l w, = 1500 Nim
. | B
A C D

| I = Ry
~—02m—-r—0.2m 0.25m— L——L:hm
Fig. P7.89
[ R ol kx5 iy }




